W\ ASHCROFT

Trust the shield?

ATTS20 RHETUIREH
I]III.A '“""':19_3.%5

= RS RERIGT
RERENLEE — 0.76um 1 0.38um
AN ENEE (IEC60751)
BEXNETH Pt100

N8 4-20mA I5i%s8

AARE (BEIPCHERILE)
BERTKE (25mm & 600mm)




\ ASHCROFT
@

A1TS20 KRB EETIXEE

N FmEH
255 F
A= MESEHE : =RNEFRE:
P100, _ -50°C & 200°C (-58°F & 392°F) 10°C

HA IEC 60751 f5/&

IEC60751, A%k
Mje) & B 18] & <3s, mmELIX
SEIRIERM: EEE@F (7<) 0°C (32°F), iEATF Pt100 Z 2%
FIEBE: 25°C + 5°C (77°F £ 9°F), ERAFITIER
RAMEIRE: BB

0.1 K(0.18°F), TIZEE=2EM0.1%, BNHEFRRAE,
1£=%2% (Pt100)
= REFRANAL, FFEIEC 60751 fEE, TIERESEEA -50°C E 200°C (-58°F E 392°F)
= EANEIRE (°C) = 0.15 + 0.002 - [T|
|T| = BEf (C)
BB 2R AT R BSM RIRE
» TYERESEE:
-50°C Z 200°C (-58°F = 392°F)

» 0.25K+0002 | TINETHMEETERLERIRE

e HR 7 = < 0.1°C /&5 0.05%/%F
LIRS e ESEREFGTHESH. % AEEEENE DL, NRERNRKE.,

Eﬁutl:HE?: ¥R Pt100, cl. A, 444, 4 mA £ 20 mA
RARAE: (U BJ8 - 9 V) / 0.025 A (BB )
=/ANBIEFE: <3.6 mA
B LRE: <21.5mA
HEBEE: Ub = 9 VDC ZE 30 VDC
RENEBE: AVFREIEBE Ugg <3V, H Up=13V B fjax, = 1 kHz BY
FIESHTERSZITE ashcroft.com.cn
FRHEEEETIESK sales@ashcroft.com.cn 20f7

©2025 Ashcroft cn. ATTS20, Rev. B, 07/25 400-187-6586



N\ ASHCROFT

FmEXE Trust the shield?

ATTS20 =R ABIEEETIXZE

B

/|

IR &

KR RESTH: -40°C = +85°C (-104°F = 185°F)
EERE: -40°C ZE +85°C (-104°F = 185°F)
BIR T8 FE L &% 2000 m (6600 ft)
SIESER: & IEC 60654-1, Cl. C i
PR . IP66, THECXTHEKFNEREABL IP67
FURE 59 /10~150Hz, #i& EN60068-2-6

BERAYE (EMC)

BEBSKERFS IEC 61326-1 tRET W N

FRER: T=HRMZMKE IEC 61326 4KV

AR TNE IEC 61326 80MHz - 1GHz 10V/m

ROR IEC 61326 0.5kV

ZFTiL IEC 61326 150kHz - 80MHz 3V
FIESHTERSZITE asheroft.com.cn
FRHEEEETIESR sales@ashcroft.com.cn 3o0f7

©2025 Ashcroft cn. ATTS20, Rev. B, 07/25 400-187-6586



\ ASHCROFT

oK
ATTS20 =R ABIEEETIXZE

wiynE | TRE. ERHTBERSEFNEH
T IREREELEFETONEENFFL
B, WEAFLBTBELFRES,

RERER | BERRBETNIENRAEDRERINNE
BEAE—ENRM. BmNREL/N,
BE I EERNERENRT HERE
MEIRE. AT R/NAY BEIENNE

sy oo RN R SE RE S
Umin = 30 mm » UEA EETRARE, ATTS20E/DMEREF 3°

M, EFRUEHT
= U=ENRE

FEEEDNRTHENRE, ARBZIEEER

P (bar)

100

80 -

60 -

40

20

1] 30 60 90 120 150 180 210 240 270 300
U (mm)

ReAITFEEEN
U BARE
p SEES

ERiHE T IEMRESBNEDARITN, HPEEERE TNENNTERHN 1.9, BT REREATH
AE, MANREEK, RAAWFBENER. DERBNRERTERAATNTURAR (2% TE).

FFIESHTERSITEM ashcroft.com.cn
FREEREETIRESR sales@ashcroft.com.cn 4 of 7

©2025 Ashcroft cn. ATTS20, Rev. B, 07/25 400-187-6586



ATTS20 =R ABIEEETIXZE

AFRE, DORTEBANRE

N\ ASHCROFT

Trust the shield?

v (m/s)

40-

354

30

254 .

200 L%

154

10

5,

0 30 60 90 120 150 180 210 240 270 300
U (mm)

AIFTRIR
U RodiERENRE
v AR
a & K, T=50°C (122°F) A}
b B ¥HER, T=200°C (392°F) A

ARFREBUR T R/NHIREE (HIREERN 80%), MHIAESENRLY, ARZSEEEHEEHRENEL

TEREI(1.9),

S EE

4(BK) Tﬁs‘

M12X1

ﬂ\% o

EA

IS8T BERZTEA
FREHERBEETIAERR
©2025 Ashcroft cn. ATTS20, Rev. B, 07/25

1(BN)+

2 (WH)TR$

D

EIEERESHT (200°C (392°F) # < 100 bar (1450 PSI) ¥EE 7 )T &,

B A mEBEFEME, M12 3k, 4 &

$tHI1: 9VDC E 30VDC BEj&; 4 mA E 20 mA
AL (BAEE, KOHE: £ =BN)

FHHD 2: &R PC IR EBLS - 555
(FBLNERE, ZUH®: B =WH)

$HHl 3: 0VDC HJE; 4 mA E 20 mA Rk
(E4EEE, RO EE: 1 =BU)
TR 4: E$E PC @B LS - 1EEt

T (g, ANHE: 2 - BK)

B: AN FEME, Pt100, 4%kdliER:

EB

ashcroft.com.cn
50f7

sales@ashcroft.com.cn
400-187-6586



= m B A

W\ ASHCROFT

ATTS20 =R ABIEEETIXZE

TR 251 ATTS20 5 EW 42A A S15 25 Rs XC3
Fmils
ATTS20 RETXER ATTS20
i
5 +0.5% 5
BSEO
EW M12 x 1, IP66 EW
BWHES
PT100 PT100, IEC60751 Class A, 4-wire
42A 4-20mA, 0°C & 100°C (32°F = 212°F) 42A
42B 4-20mA, 0°C & 150°C (32°F = 302°F)
42C 4-20mA, -50°C = 100°C (-58°F & 212°F)
42D 4-20mA, -50°C & 150°C (-58°F = 302°F)
42E 4-20mA, 0°C & 200°C (32°F & 392°F)
42F 4-20mA, -50°C & 200°C (-58°F Z 392°F)
B&MmR
A 316L A
U - HE2 23
S15 Tri-Clamp 1-1.5" (DIN 32676 DN25-40) S15
S20 Tri-Clamp 2" (DIN 32676 DN50)
S75 Microclamp 1/2" - 3/4"
RBRHKE
25 25mm, 6mm 25
03 30mm, 6mm
05 50mm, 6mm
10 100mm, 6mm
15 150mm, 6mm
20 200mm, 6mm
25 250mm, 6mm
30 300mm, 6mm
40 400mm, 6mm
50 500mm, 6mm
60 600mm, 6mm
30X 30mm @6-04
50X 50mm @6-34
REEREE
R8 316L; Ra <=0.76um (30uinch) R8
R4 316L; Ra <= 0.38um (15uinch)
WRIET (SNRERE T LUT—MEM, BAEISETIN—14 X)
T EREMASH
c3 3.1 MBRIED XC3
3P 3milliRE
6W Rt R A Ah 18
6B E=h b
FIESHEERBITBEA asheroft.com.cn
FRHEEEETIESR sales@ashcroft.com.cn 60f7

©2025 Ashcroft cn. ATTS20, Rev. B, 07/25

400-187-6586




N\ ASHCROFT
Trus the shiel:

ATTS20 =R ABIEEETIXZE

R~ B BEfiImm

M12X1
o
'____ M12X1 =l
=
— D18
* ®18 -
b N
~]
“ Tri-Clamp
/ 3
Tri-Clamp
. Pd
o Dd
o B
s "
-,
_j
&EFTF PT100 EHETF 4-20mA
U=HBAKE, mIEERE25mm E 600 mm
OA=HRIFEE mm
FFIESHTERSITEM ashcroft.com.cn
FREEREETIRESR sales@ashcroft.com.cn 70of7

©2025 Ashcroft cn. ATTS20, Rev. B, 07/25 400-187-6586



	封面
	
	封面
	
	Untitled

	
	
	Untitled


	
	
	Untitled








